	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Easy  
	ES: The Earth  
	SPI 0707.7.3 Rock Cycle [99125]
	D52373

	2
	C  
	Easy  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.1 Cell Organelles [99112]
	D50103

	3
	D  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.5 Experimental Error [99107]
	D111588

	4
	B  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D2997

	5
	B  
	Hard  
	ES: The Earth  
	SPI 0707.7.3 Rock Cycle [99125]
	D74638

	6
	B  
	Moderate  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D87734

	7
	D  
	Hard  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D86691

	8
	A  
	Easy  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.3 Major Organ Systems [99114]
	D1191

	9
	C  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.3 Major Organ Systems [99114]
	D83520

	10
	D  
	Moderate  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.2 Cells to Organ Systems [99113]
	D54980

	11
	C  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.1 Cell Organelles [99112]
	D83785

	12
	C  
	Moderate  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.1 Cell Organelles [99112]
	D83786

	13
	A  
	Moderate  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D86366

	14
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1707

	15
	C  
	Moderate  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.1 Test Prototype [99108]
	D111574

	16
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.Inq.2 Select Experimental Procedures [99104]
	D84700

	17
	D  
	Hard  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D87732

	18
	C  
	Moderate  
	ES: The Earth  
	SPI 0707.7.1 Classify Minerals [99123]
	D109020

	19
	B  
	Hard  
	Inquiry / Technology & Engineering  
	SPI 0707.T/E.1 Test Prototype [99108]
	D111576

	20
	A  
	Moderate  
	ES: The Earth  
	SPI 0707.7.3 Rock Cycle [99125]
	D77243

	21
	D  
	Moderate  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.5 Diffusion [99116]
	D75780

	22
	D  
	Easy  
	ES: The Earth  
	SPI 0707.7.6 Plate Movement [99128]
	D53639

	23
	C  
	Easy  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1417

	24
	A  
	Easy  
	ES: The Earth  
	SPI 0707.7.1 Classify Minerals [99123]
	D109023

	25
	C  
	Easy  
	ES: The Earth  
	SPI 0707.7.2 Label Rock Types [99124]
	D110779

	26
	B  
	Hard  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1098

	27
	D  
	Moderate  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D66267

	28
	A  
	Easy  
	ES: The Earth  
	SPI 0707.7.4 Earth's Layers [99126]
	D78748

	29
	A  
	Hard  
	LS: Cells/ Flow of Matter and Energy/ Heredity  
	SPI 0707.1.5 Diffusion [99116]
	D58576

	30
	C  
	Hard  
	ES: The Earth  
	SPI 0707.7.4 Earth's Layers [99126]
	D76861
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	The presence of which of the following organisms would most likely signify soil that would be high in organic material?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	deer

	[image: image2.wmf]  
	B.
	earthworms

	[image: image3.wmf]  
	C.
	spiders

	[image: image4.wmf]  
	D.
	groundhogs
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	[image: image5.png]ANIMAL CELL




In the above diagram, which cell structure is responsible for taking in and breaking down foreign particles and damaged organelles?

	 
	 
	 
	 
	 

	[image: image6.wmf]  
	A.
	ribosome

	[image: image7.wmf]  
	B.
	cell membrane

	[image: image8.wmf]  
	C.
	lysosome

	[image: image9.wmf]  
	D.
	mitochondria
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	Jocelyn decided that a soft drink containing 155 calories would be a healthier choice than whole grain bread containing 175 calories. She thought the soft drink would be healthier because it had fewer calories. 

Why was her conclusion not correct?

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	The whole grain bread takes longer to digest than the soft drink.

	[image: image11.wmf]  
	B.
	The whole grain bread probably cost about the same as the soft drink.

	[image: image12.wmf]  
	C.
	The whole grain bread has about the same number of ingredients as the soft drink.

	[image: image13.wmf]  
	D.
	The whole grain bread contains important nutrients but the soft drink contains only calories.
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	What is one of the most important rules when working in the lab?

	 
	 
	 
	 
	 

	[image: image14.wmf]  
	A.
	only heat substances in a closed container

	[image: image15.wmf]  
	B.
	always follow directions

	[image: image16.wmf]  
	C.
	if you do not understand, guess

	[image: image17.wmf]  
	D.
	wear loose clothes for comfort
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	The chemical weathering of soil occurs most rapidly in regions which are __________.

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	warm and dry

	[image: image19.wmf]  
	B.
	warm and moist

	[image: image20.wmf]  
	C.
	cool and dry

	[image: image21.wmf]  
	D.
	cool and moist

	 


	Question 6 of 30

	The diagram below shows that continents of the earth can be joined like pieces in a jig saw puzzle.
[image: image22.png]nnnnn






	 

	What conclusion can be drawn from the diagram shown?

	 
	 
	 
	 
	 

	[image: image23.wmf]  
	A.
	Continents moved in the past and are stationary now. 

	[image: image24.wmf]  
	B.
	All continents were part of one large landmass in the past.

	[image: image25.wmf]  
	C.
	All continents are moving away from each other at a uniform speed. 

	[image: image26.wmf]  
	D.
	Continents are continuously moving closer to one another throughout history. 

	 


	Question 7 of 30

	The diagram given below shows the rock cycle.
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	What is represented by X?

	 
	 
	 
	 
	 

	[image: image28.wmf]  
	A.
	soil

	[image: image29.wmf]  
	B.
	water

	[image: image30.wmf]  
	C.
	fossil

	[image: image31.wmf]  
	D.
	magma
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	Which body system is responsible for removing solid waste from the body?

	 
	 
	 
	 
	 

	[image: image32.wmf]  
	A.
	digestive

	[image: image33.wmf]  
	B.
	circulatory

	[image: image34.wmf]  
	C.
	immune

	[image: image35.wmf]  
	D.
	excretory
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	The picture below shows part of the human respiratory system, including the lungs, larynx, trachea, and sinuses. 

[image: image36.png]



Identify the label for the trachea, which is often called the windpipe.

	 
	 
	 
	 
	 

	[image: image37.wmf]  
	A.
	1

	[image: image38.wmf]  
	B.
	2

	[image: image39.wmf]  
	C.
	3

	[image: image40.wmf]  
	D.
	4
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	Identify the levels of organization in living things from smallest to largest.

	 
	 
	 
	 
	 

	[image: image41.wmf]  
	A.
	cells > tissues > systems > organs > organisms

	[image: image42.wmf]  
	B.
	amoeba > maggot > worm > lamprey > snake > kraken

	[image: image43.wmf]  
	C.
	organs > cells > tissues > systems > organisms

	[image: image44.wmf]  
	D.
	cells > tissues > organs > systems > organisms
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	Look at the diagrams to answer the question. 
[image: image45.png]Cell 1





	 

	Which cellular structure makes protein and is present in all the three cells?

	 
	 
	 
	 
	 

	[image: image46.wmf]  
	A.
	nucleus

	[image: image47.wmf]  
	B.
	vacuole

	[image: image48.wmf]  
	C.
	ribosome

	[image: image49.wmf]  
	D.
	chloroplast
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	Look at the diagram to answer the question.
[image: image50.png]




	 

	Identify the enlarged cellular structure shown in the above diagram. 

	 
	 
	 
	 
	 

	[image: image51.wmf]  
	A.
	nucleus

	[image: image52.wmf]  
	B.
	vacuole

	[image: image53.wmf]  
	C.
	chloroplast

	[image: image54.wmf]  
	D.
	mitochondria
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	Which type of rock is formed when magma from deep inside the earth comes to the surface and cools down to become a solid?

	 
	 
	 
	 
	 

	[image: image55.wmf]  
	A.
	igneous rock

	[image: image56.wmf]  
	B.
	plutonic rock

	[image: image57.wmf]  
	C.
	sedimentary rock

	[image: image58.wmf]  
	D.
	metamorphous rock
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	According to Newton's third law, Which statement best describes why walking on an icy pond is difficult? 

	 
	 
	 
	 
	 

	[image: image59.wmf]  
	A.
	Your shoes can push against the ice, but the ice can't push your shoes.

	[image: image60.wmf]  
	B.
	Your shoes cannot push against ice, so the ice cannot push against your shoes.

	[image: image61.wmf]  
	C.
	The ice is cold so it crumbles as you push against it.

	[image: image62.wmf]  
	D.
	The ice melts under your feet making it much more slippery.
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	A research team developed a device that makes it easier for a person in a a wheelchair to get into and out of a vehicle. 

	 

	What should the team do before they ask people with disabilities to participate in tests that measure the effectiveness of the device? 

	 
	 
	 
	 
	 

	[image: image63.wmf]  
	A.
	They should find out how much it will cost to mass produce the device.

	[image: image64.wmf]  
	B.
	They should make a detailed drawing of the device that includes exact measurements.

	[image: image65.wmf]  
	C.
	They should make sure the device works well with all types of vehicles and wheelchairs.

	[image: image66.wmf]  
	D.
	They should find out if the device would help people with disabilities to travel more safely.
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	A scientist follows ethical guidelines in experiments involving human subjects. This means that human subjects ______________________. 

	 
	 
	 
	 
	 

	[image: image67.wmf]  
	A.
	are unaware of risks and benefits of the experiments

	[image: image68.wmf]  
	B.
	are well informed of risks and benefits of the experiments

	[image: image69.wmf]  
	C.
	would to be totally cured before the end of the experiments 

	[image: image70.wmf]  
	D.
	would participate unwillingly in the research experiments
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	Use the image to answer the question.
[image: image71.png]African rift 1 !
valley






	 

	The African Rift valley is continuously expanding. What can be concluded about the past from this observation?

	 
	 
	 
	 
	 

	[image: image72.wmf]  
	A.
	A meteorite collided into this place. 

	[image: image73.wmf]  
	B.
	Rift valleys are a part of every continent.

	[image: image74.wmf]  
	C.
	Two landmasses combined to form Africa.

	[image: image75.wmf]  
	D.
	Continents may have broken in the past as well.
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	Donetta made the table below to record her tests and observations of four unknown mineral samples. She compared the information in her table to the physical properties of several minerals described in a gem and mineral guide. 
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	The guide provided the following description for sapphire: 

Sapphire is a type of corundum. It is made of the elements aluminum and oxygen, and comes in many colors. It is harder than all other minerals except diamonds. With an average density of 4 grams per cubic centimeter, it is one of the densest gemstones. 

Which of Donetta's samples is likely to be sapphire?

	 
	 
	 
	 
	 

	[image: image77.wmf]  
	A.
	A

	[image: image78.wmf]  
	B.
	B

	[image: image79.wmf]  
	C.
	C

	[image: image80.wmf]  
	D.
	D
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	Shelby developed a tool that measures the amount of dissolved oxygen in an aquatic ecosystem and displays it on a digital screen. 

How can she test the accuracy of the tool?

	 
	 
	 
	 
	 

	[image: image81.wmf]  
	A.
	Use a thermometer to measure the temperature of a water sample, then measure its oxygen with the tool.

	[image: image82.wmf]  
	B.
	Measure the oxygen in a water sample using the tool and another reliable oxygen test, and compare the results.

	[image: image83.wmf]  
	C.
	Find out how oxygen is dissolved, then dissolve as much as possible in a water sample before measuring it with the tool.

	[image: image84.wmf]  
	D.
	Weigh a water sample and measure its volume, then calculate its density after subtracting the mass of the oxygen measured by the tool.
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	Erosion may increase due to ________________.

	 
	 
	 
	 
	 

	[image: image85.wmf]  
	A.
	deforestation and unmanaged construction

	[image: image86.wmf]  
	B.
	terrace-building and tree planting

	[image: image87.wmf]  
	C.
	constructive forces

	[image: image88.wmf]  
	D.
	crustal deformation
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	When a plant cell is placed in water, the plant cell will swell and become larger. What cell process is responsible for the movement of water into the cell? 

	 
	 
	 
	 
	 

	[image: image89.wmf]  
	A.
	cellular respiration 

	[image: image90.wmf]  
	B.
	active transport 

	[image: image91.wmf]  
	C.
	translation 

	[image: image92.wmf]  
	D.
	osmosis 
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	What type rock is formed from magma? 

	 
	 
	 
	 
	 

	[image: image93.wmf]  
	A.
	metamorphic

	[image: image94.wmf]  
	B.
	sedimentary

	[image: image95.wmf]  
	C.
	weathered

	[image: image96.wmf]  
	D.
	igneous
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	Which of the following is the correct formula for acceleration?

	 
	 
	 
	 
	 

	[image: image97.wmf]  
	A.
	acceleration = velocity / time

	[image: image98.wmf]  
	B.
	acceleration = speed / time

	[image: image99.wmf]  
	C.
	acceleration = change in velocity / change in time

	[image: image100.wmf]  
	D.
	acceleration = velocity x time 
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	Donetta made the table below to record her tests and observations of four unknown mineral samples. She compared the information in her table to the physical properties of several minerals described in a gem and mineral guide. 
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	Pyrite has the following description in the guide: Pyrite is a sulfide of iron. It is made of the elements iron and sulfur. It is dark to light gray with a shiny, yellowish cast, giving it the nickname Fool's Gold. It has a hardness of 6 to 6.5 on the Mohs scale and an average density of 5 grams per cubic centimeter. 

Which of Donetta's samples is likely to be pyrite?

	 
	 
	 
	 
	 

	[image: image102.wmf]  
	A.
	A

	[image: image103.wmf]  
	B.
	B

	[image: image104.wmf]  
	C.
	C

	[image: image105.wmf]  
	D.
	D
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	The diagram below shows a cross section of a volcanic island. 

[image: image106.png]




	 

	Which letter labels the place where sedimentary rock is most likely to occur?

	 
	 
	 
	 
	 

	[image: image107.wmf]  
	A.
	A

	[image: image108.wmf]  
	B.
	B

	[image: image109.wmf]  
	C.
	C

	[image: image110.wmf]  
	D.
	D
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	What does Newton's third law of motion state?

	 
	 
	 
	 
	 

	[image: image111.wmf]  
	A.
	when moving, an object will speed up

	[image: image112.wmf]  
	B.
	for every action there is an equal and opposite reaction

	[image: image113.wmf]  
	C.
	mass has nothing to do with motion

	[image: image114.wmf]  
	D.
	an object in motion will remain in motion unless acted upon by another object
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	A ball is released and travels down one side of the half-pipe and back up the other side. 

[image: image115.png]



Which statement best describes the future motion of the ball? 

	 
	 
	 
	 
	 

	[image: image116.wmf]  
	A.
	The ball will travel at the same speed for each trip.

	[image: image117.wmf]  
	B.
	The ball will speed up each time it goes down the half-pipe.

	[image: image118.wmf]  
	C.
	The ball will continue to go up and down.

	[image: image119.wmf]  
	D.
	The ball will eventually come to a rest at the bottom of the half-pipe.

	 


	Question 28 of 30

	The layer of the Earth on which we live is called the _________________.

	 
	 
	 
	 
	 

	[image: image120.wmf]  
	A.
	crust

	[image: image121.wmf]  
	B.
	mantle

	[image: image122.wmf]  
	C.
	exterior

	[image: image123.wmf]  
	D.
	outer core
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	The diagram below shows a cell in a salt solution. 

[image: image124.png]water
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If the cell membrane is permeable to both salt and H[image: image125.png]


O, which statement best explains what will immediately occur?

	 
	 
	 
	 
	 

	[image: image126.wmf]  
	A.
	Salt will move in and water will move out.

	[image: image127.wmf]  
	B.
	Salt will move in and water will remain the same.

	[image: image128.wmf]  
	C.
	Salt will move out and water will move in.

	[image: image129.wmf]  
	D.
	There will be no movement of salt or water.
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	How is the solid earth layered?

	 
	 
	 
	 
	 

	[image: image130.wmf]  
	A.
	a lithosphere, dense magna and liquid core

	[image: image131.wmf]  
	B.
	a lithosphere, solid rock mantle, and small core

	[image: image132.wmf]  
	C.
	a lithosphere, hot mantle and metallic core

	[image: image133.wmf]  
	D.
	a lithosphere, hot magnum and an inorganic core

	 


1. Cell Size 

GLE 0707.1.2 Summarize how the different levels of organization are integrated within living systems. 

GLE 0707.Inq.5 Communicate scientific understanding using descriptions, explanations, and models. 

A whale is among the largest mammals on Earth. 

A shrew is one of the smallest mammals on Earth. 

How does the size of average cells compare between the whale and the shrew? Circle the answer that best matches you thinking. 

The average cell of a whale is smaller than the average cell of a shrew. 

The average cell of a whale is larger than the average cell of a shrew. 

The average cell of a whale is about the same size as the average cell of a shrew. 

Explain your thinking. Describe the “rule” or reasoning you used to choose your answer. 

[image: image134.emf][image: image135.emf]


2. Forces 

GLE 0707.11.4 Investigate how Newton’s laws of motion explain an object’s movement. 

GLE 0707.Inq.3 Synthesize information to determine cause and effect relationships between evidence and explanations. 

GLE 0707.Inq.5 Communicate scientific understanding using descriptions, explanations, and models. 

Describe all the forces at work when a soccer player hits the ball as shown in the photograph. Explain how the forces interact to produce the motions of the player and of the ball. [image: image136.emf]
3. Seafloor 

GLE 0707.7.4 Explain how earthquakes, mountain building, volcanoes, and sea floor spreading are associated with movements of the earth’s major plates. 

GLE 0707.Inq.3 Synthesize information to determine cause and effect relationships between evidence and explanations. 

GLE 0707.Inq.4 Recognize possible sources of bias and error, alternative explanations, and questions for further exploration. 

Use the graph to answer the following questions. 

1. What is the average depth of ocean crust that has just formed? 

2. Estimate the average depth of ocean crust that is 60 million years old. 

3. Describe how the depth of ocean crust is related to the age of the ocean crust. 

4. How do geologists explain the relationship between the depth and age of the seafloor? 
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